#6. Resuelve estas ecuaciones.
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a)(2x—1)-2=3 -6 —=dx—2=18 —ax=18+2 — dx=20 —x=5
b)(4x+1)-3=7-9—12x+3=63 =+ 12x=63-3 — 12x=60 =+ x=5
(B—x)-3=2-6—24— =17 = —F¥=12 M -3x=—12 s x=4
dj(3—4x)-2=(-1)-10 - 6—Bx=-10 — —8x=—6—-10— —8Bx=—16 — x=2
e)(x+6)-5=(x+8) -4 —=5x+30=4x+32 > 5x—Ax=-30+32 —x=2
flo—x)-3=(x+11)-2 =27 —3x=2x+22 — 35— 2x=-27+22 — —Gx=-5—>x=1
E)Sx-4={x+9)-2 —=20x=2x+1B— 20— 2x=18 — 1Bx=1B —x=1

h) {x +10) - 2={ —3x) - 6 — 2x + 20 = —18x — 2x + 18x =—20 — 20x = —20 — x=—1

£9. Resuelve estas ecuaciones.
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e)12-2-(3x—2)- ’4’ = L 7Ix—4B-6=32 — 72x=4B+6+32 — 72x= 86— x=43/36

f)5-(x+6x+12+6)=8—+5-(7x+18) =8 — 35x +90=8 — 35x=—90 + B — 35x=—82 — x =—82/35
Bl5-(6—2x+2)=4—5-(8—2x)=4— 40— 10x=4 — —10x=—40 + 4 — —10x =36 — x = 18/5
h}7-(2x—5x—15)=4—7-(—3x—15)=4 — —21x— 105=4 — —21x =105+ 4 — —21x= 109 — x=—109/21
4 - (3x—4-6x+2)=5—4-(-3x—2}=5—-12x—8=5—-12x=8+5——12x=13 — x=—13/12
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k)2(x—12%+6) =7 —4x— 2- [-1Ix+ 6]+ dn=7 — -22x+ 12+ 4 =7 — —-1Bx=-12+7 — x=5/18

2-(Bx—4+dx)=-1-2x—2-(Fx—4}+2x=—1— 16k —B=—-1 —+16x=8—-1— 16x=7 — x=T7/16



